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Û”Ì«̃ ±Ú – 50 (Full Marks : 50)   

˜±ÀÚ¬ı˛ &èQ – 30% (Weightage of Marks : 30%) 
¬Ûø¬ı˛ø˜Ó¬ › ˚Ô±˚Ô Î¬◊M√√À¬ı˛¬ı˛ Ê√Ú… ø¬ıÀ˙¯∏ ˜”˘… Œ√›˚˛± ˝√√À¬ıº 

’qX ¬ı±Ú±Ú, ’¬Ûø¬ı˛26√ißÓ¬± ¤¬ı— ’¬Ûø¬ı˛©®±¬ı˛ ˝√√ô¶±é¬À¬ı˛¬ı˛ Œé¬ÀS Ú•§¬ı˛ 
Œfl¡ÀÈ¬ ŒÚ›˚˛± ˝√√À¬ıº Î¬◊¬Û±ÀôL õ∂Àùü¬ı˛ ˜”˘…˜±Ú ¸”ø‰¬Ó¬ ’±ÀÂ√º 

Special credit will be given for precise and correct 
answer. Marks will be deducted for spelling 

mistakes, untidiness and illegible handwriting. 
The figures in the margin indicate full marks. 

  ø¬ıˆ¬±· - fl¡ 

1º Œ˚-Œfl¡±ÀÚ± ≈√íøÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 10 × 2 = 20 
 [fl¡] [’] 16-Œ|Ìœ¬ı˛ Œ˜Ã˘¸ ”̃À √̋√¬ı˛ ’'± ◊̋√√Î¬&ø˘¬ı˛ ¤fl¡øÈ¬ 

Ó≈¬˘Ú±˜”˘fl¡ ’±À˘±‰¬Ú± fl¡èÚº 5 
  [’±]  14-Œ|Ìœ¬ı˛ õ∂Ô˜ Œ˜Ã˘ fl¡±¬ı«ÀÚ¬ı˛ Ò˜«, Œ|Ìœ¬ı˛ 

Œ˙¯∏ Œ˜Ã˘ Œ˘ÀÎ¬¬ı˛ ŒÔÀfl¡ ¬Û≈À¬ı˛±¬Û≈ø¬ı˛ ’±˘±√± —
fl¡±¬ı˛Ì¸˝√√ ’±À˘±‰¬Ú± fl¡èÚº 5 

 [‡] [’] Œ¬ı±¬ı˛Ú øfl¡ fl¡À¬ı˛ Œfl¡±À˘À˜Ú± ◊̋√√È¬ ŒÔÀfl¡ øÚ©®±˙Ú 
fl¡¬ı˛± √̋√̊ ˛ ∑ ¬ı˛±¸±˚˛øÚfl¡ ¸˜œfl¡¬ı˛Ì¸˝√√ ’±À˘±‰¬Ú± 
fl¡èÚº 3 + 2 

  [’±] 
    

! 

PO
4

3" , 
    

! 

ASO
3

3"  › 
    

! 

ASO
4

3"  ø˜|ÀÌ 

’±¬ÛøÚ øfl¡ fl¡À¬ı˛ 
    

! 

PO
4

3" -¤¬ı˛ Î¬◊¬Ûø¶öøÓ¬ øÚø(Ó¬     

fl¡¬ı˛À¬ıÚ ∑ 5 

 [·] È¬œfl¡± ø˘‡≈Ú [ Œ˚ Œfl¡±Ú ≈√øÈ¬ ] – 5 × 2 

  (i) ø¸ø˘Àfl¡È¬ 

  (ii) √̋√± ◊̋√√E±øÊ√Ú 

  (iii) ¬Œ¬ı±¬ı˛Ú √̋√± ◊̋√√E±˝◊√√Î¬¸º   

 [‚] ¬ı˛±¸±˚˛øÚfl¡ ¸˜œfl¡¬ı˛Ì¸˝√√ øfl¡ ‚ÀÈ¬ ø˘‡≈Ú – 2
  

! 

1

2
 × 4  

  [’] SnCl
  

! 

2
 ^¬ıÀÌ¬ı˛ ¸±ÀÔ ’øÓ¬ø¬ı˛Mê√ ¬Ûø¬ı˛˜±Ì 

NaOH ^¬ıÌ ø˜ø|Ó¬ fl¡À¬ı˛ Ó¬±¬ı˛ ˜ÀÒ… 

  

! 

Bi(NO
3
)
3

^¬ıÌ Œ˚±· fl¡¬ı˛± √̋√̆ º 

  [’±] ŒÙ¬ø¬ı˛fl¡ Œflv¡±¬ı˛±˝◊√√Î¬ ^¬ıÀÌ¬ı˛ ¸±ÀÔ ’…±À˜±øÚ˚˛±˜ 
Ô±À˚˛±¸±˚˛±øÚÎ¬ ^¬ıÌ Œ˚±· fl¡¬ı˛± ˝√√̆ º ’Ó¬–¬Û¬ı˛ 
¤¬ı˛ ˜ÀÒ… ’…±À˜±øÚ˚˛±˜ ¬ı±˝◊√√Àflv¡±¬ı˛±˝◊√√Î¬ ^¬ıÌ Œ˚±· 
fl¡¬ı˛± √̋√̆ º 

  [ ◊̋√√] ¬ÛÈ¬±ø¸˚˛±˜ ’±À˚˛±Î¬±˝◊√√Î¬ › ¬ÛÈ¬±ø˙˚˛±˜ Œ¬ıË±˜±˝◊√√Î¬-
¤¬ı˛ ø˜|ÀÌ ’øÓ¬ø¬ı˛Mê√ ¬Ûø¬ı˛˜±Ì Œflv¡±ø¬ı˛Ú ·…±À¸¬ı˛ 
Ê√̆ œ˚̨ ^¬ıÌ Œ˚±· fl¡¬ı˛± √̋√̆ º 

  [÷] ŒÙ¬ø¬ı˛fl¡ Œflv¡±¬ı˛± ◊̋√√Î¬ › ŒSê±ø˜˚˛±˜ Œflv¡±¬ı˛±˝◊√√Î¬-¤¬ı˛ 
Ê√̆ œ˚̨ ^¬ıÀÌ¬ı˛ ø˜|ÀÌ fl¡øÍ¬Ú 

  

! 

Na
2
O

2
Œ˚±· 

fl¡À¬ı˛ ŒÙ¬±È¬±ÀÚ± ˝√√̆ º 
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ø¬ıˆ¬±· - ‡¡ 

2º Œ˚-Œfl¡±ÀÚ± øÓ¬ÚøÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú  – 6 × 3 = 18 

 [fl¡] ø˘øÔ˚˛±˜ › ˜…±·ÀÚø˙˚˛±À˜¬ı˛ ˜ÀÒ… fl¡Ì« ¸•Ûfl«¡ fl¡±¬ı˛Ì¸ √̋√ 

’±À˘±‰¬Ú± fl¡èÚº ¤À√¬ı˛ ˜ÀÒ… ≈√øÈ¬ ¸±‘√̇ … ¤¬ı— ≈√øÈ¬ 

∆¬ı¸±‘√̇ … Î¬◊À~‡ fl¡èÚº  2 + 2 + 2   

 [‡] fl¡±¬ı˛Ì¸˝√√ ¬ı…±‡…± fl¡èÚ – 3 + 3 

  [’] 
  

! 

BCl
3

¤fl¡øÈ¬ ·…±¸œ˚˛ ¬Û√±Ô« øfl¡c 
  

! 

AlCl
3
 fl¡øÍ¬Ú 

¬Û√±Ô«º 

  [’±] 
  

! 

NF
3 ¶ö±˚˛œ øfl¡c 

  

! 

NCl
3  ‡≈¬ı ◊̋√√ ’¶ö±˚œ̨º 

 [·] ¬˝√√± ◊̋√√ÀE±ÀÊ√ÀÚ¬ı˛ ’ôLÒ‘«øÓ¬ ¬ı˘ÀÓ¬ øfl¡ Œ¬ı±ÀÁ¡Ú ∑ ’ôLÒ«‘øÓ¬¬ı˛ 

fl¡±¬ı˛Ì Î¬◊√±˝√√¬ı˛Ì¸˝√√ ¬ı…±‡…± fl¡èÚº 3 + 3  

 [‚] Ù≈¬˘±ø¬ı˛Ú øfl¡ ∑ ¤øÈ¬ øfl¡ fl¡À¬ı˛ õ∂dÓ¬ fl¡¬ı˛± ˝√√̊ ˛ ∑ 

Ù≈¬˘±ø¬ı˛ÀÚ¬ı˛ ¬ı…¬ı˝√√±À¬ı˛¬ı˛ Î¬◊À~‡ fl¡èÚº 2 + 3 + 1 

 [„√√] øfl¡ fl¡À¬ı˛ øÙË¬˚˛Ú ∆Ó¬¬ı˛œ fl¡¬ı˛± ˝√√̊ ˛ ∑ ¤ ◊̋√√ øÙË¬˚˛Ú øfl¡ fl¡À¬ı̨ 

¬Ûø¬ı˛À¬ı˙ Ú©Ü fl¡À¬ı˛ ¬ı˛±¸±˚˛øÚfl¡ ¸˜œfl¡¬ı˛Ì¸˝√√ ø˘‡≈Úº 2 + 4  

 [‰¬] NO ¤fl¡øÈ¬ ¬Û¬ı˛±‰≈¬•§fl¡œ˚̨ ¬[ Û…±¬ı˛± ˜…±·ÀÚøÈ¬fl¡ ] ¬Û√±Ô«º 

øfl¡c NO

! 

+  ø¡Z‰≈¬•§fl¡œ˚̨ [ Î¬√±˝◊√√̃ …±·ÀÚøÈ¬fl¡ ] ¬Û√±Ô«º MO 

Ó¬N ¡Z±¬ı˛± Î¬◊¬ÛÀ¬ı˛±Mê√ Î¬◊øMê√øÈ¬¬ı˛ ¬ı…±‡…± fl¡èÚº 3 + 3 

ø¬ıˆ¬±· - ·¡ 

3º Œ˚-Œfl¡±ÀÚ± ‰¬±¬ı˛øÈ¬¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú º 3 × 4 = 12 

 [fl¡] PCl
  

! 

5
 Œ√‡± ˚±˚˛ øfl¡c ¬ PH

  

! 

5
 Û±›˚˛± ˚±˚˛ Ú±º fl¡±¬ı˛Ì¸˝√√ 

¬ı…±‡…± fl¡èÚº 3 

 [‡] N
  

! 

3
H-¤¬ı˛ Ó≈¬˘Ú±˚˛ N

  

! 

3
Na ‡≈¬ı ¶ö±˚œ̨ Œfl¡Ú ∑ 3 

 [·] ¬Û±¬ı˛˜±Ìø¬ıfl¡ ˝√√±˝◊√√ÀE±ÀÊ√Ú øfl¡ fl¡À¬ı˛ ∆Ó¬¬ı˛œ fl¡¬ı˛À¬ıÚ ∑ ¤¬ı̨ 

¬ı…¬ı˝√√±¬ı˛ ø˘‡≈Úº 2 + 1  

 [‚] ø¬∏C¬Û˘ ¸≈¬Û±¬ı˛ Ù¬¸ÀÙ¬È¬ øfl¡ ∑ ¤¬ı˛ Ú±˜ ¤¬ı˛fl¡˜ fl¡¬ı˛± √̋√̆  

Œfl¡Ú ∑  2 + 1  

 [„√√] Beo-¤¬ı˛ Ê√À˘ ¬^¬ıÌœ˚̨Ó¬± BeSO
  

! 

4
-¤¬ı˛ Î¬◊¬Ûø¶öøÓ¬ÀÓ¬ 

¬ı‘øX ¬Û±˚˛º ¤¬ı˛ ¬ı…±‡…± øfl¡ ∑ 3 

 [‰¬] Ó¬¬ı˛˘ ¸±˘øÙ¬Î¬◊ø¬ı˛fl¡ ’…±ø¸ÀÎ¬¬ı˛ Ó≈¬˘Ú±˚˛ H
  

! 

2
S

  

! 

2
O

  

! 

7
 

Œ¬ı˙œ ˙øMê√̇ ±˘œ ’…±ø¸Î¬ Œfl¡Ú ∑ 3 

 [Â√] P
  

! 

4
, P

  

! 

4
O

  

! 

6
 ¤¬ı— P

  

! 

4
O

  

! 

10
 ¤¬ı˛ ˜ÀÒ… ·Í¬Ú fl¡±Í¬±À˜±·Ó¬ 

¸±‘√̇ … ’±ÀÂ√º ’±À˘±‰¬Ú± fl¡èÚº 3 

 [Ê√] ¤fl¡øÈ¬ ’…±Ú±˚˛Úœ˚˛ › ¤fl¡øÈ¬ fl¡…±È¬±Úœ˚˛ Œ¬ı±¬ı˛ÀÚ¬ı˛ Ê√øÈ¬˘ 

Œ˚ÃÀ·¬ı ̨Ú±˜¸˝√√ ¸—Àfl¡Ó¬ ø˘‡≈Úº 3 
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( English Version ) 
Group-A 

1. Answer any two questions.   10 × 2 = 20 

 A. (a) Give a comparative account on oxides 

of the elements of group-16. 5  

  (b) The beheviour of carbon, the first 

element of group-14 is different from 

the last element lead. Discuss stating 

the reasons. 5 

 B. (a) How is boron extracted from   

colemanite ? Discuss with required 

chemical equations. 3 + 2   

  (b) How can you confirm the presence of 

    

! 

PO
4

3"  in a mixture of 
    

! 

ASO
3

3", 
    

! 

ASO
4

3"  

and 
    

! 

PO
4

3"  ? 5 

 C. Write notes on any two of the following : 

  (a) Silicates 

  (b) Hydrazine 

  (c) Boron hydrides. 2
  

! 

1

2
 × 2 

 D. Write with the chemical equations what 

happens when. 2
  

! 

1

2
 × 4  

  (a) Excess NaOH solution is added to the 
SnCl

  

! 

2
 solution and then 

  

! 

Bi(NO
3
)
3
 

solution is added to it. 

  (b) Ferric chloride solution is added to the 

ammonium thiocynide solution and 

then ammonium bifluoride solution is 

added to it. 

  (c) The mixture of aqueous solutions 

potassium iodide and potassium 

bromide is treated with excess chlorine 

water. 

  (d) In the aqueous solution of mixture of 

ferric chloride and chromium chloride, 
solid 

  

! 

Na
2
O

2
 is added and boiled. 

Group-B 

2. Answer any three questions . 6 × 3 = 18 

 A. Discuss with reasons the diagonal 

relationship of lithium and magnesium. 

Mention two similarities and two 

dissimilarities of properties of the two 

methods.  2 + 2 + 2 
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 B. Explain with reasons :  

   (a)   

! 

BCl
3  is a gas but 

  

! 

AlCl
3
 is solid. 

   (b)   

! 

NF
3 is stable but   

! 

NCl
3  is explosive. 

      3 + 3 

 C. What do you mean by occlusion of   

hydrogen ? Explain the causes of occulusion 

with an example. 3 + 3 

 D. What are fullerenes ? How can it be 

prepared ? State its uses. 2 + 3 + 1 

 E. How are freons prepared ? How do they 

cause damage to the environment ? Write 

with the help of chemical reaction. 2 + 4 

 F. NO is para-magnetic and NO

! 

+  is 

diamagnetic. Explain with the help of MO 

theory.  3  + 3 
 

Group-C 

3. Answer any four questions . 3 × 4 = 12 

 A. PCl
  

! 

5
 exists but PH

  

! 

5
 does not, why ? 3 

 B. N
  

! 

3
Na is more stable than N

  

! 

3
H. Explain.  3 

 C. How is atomic hydrogen prepared ? What are 

its uses ? 2 + 1 

 D. What is triple supper phosphate ? Why is its 

so named ? 2 + 1 

 E. Explain why solubility of BeO in water 
increases in presence of BeSO

  

! 

4
. 3  

 F. H
  

! 

2
S

  

! 

2
O

  

! 

7
 is a stronger acid than liquid 

H
  

! 

2
SO

  

! 

4
. Why ? 3 

 G. Draw the structure of P
  

! 

4
, P

  

! 

4
O

  

! 

6
 and P

  

! 

4
O

  

! 

10
. 

      3 

 H. Write and name one anionic and one 

cationic complexes of boron. 3     
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